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NOTE: write answers to the questions on objective answer sheet provided. Four possible answers A,B.C & D to each

1.1. The atomic radius of carbon atom is: et r L LB 1.1

(A) 70 pm (B) 75 pm __(C) 77pm R — )| I T I S

_ - 2-—Fhe-transferof etectrons betwear atoms Tesuls: AP ol end A1 2
(A) Covalent bonding {J) 2| ckyd T (B) fonic bonding ey imry —

(C) metallic bonding 2z S E b, Lt
(D) Coordinate covalent bonding u:.;/fJJbg_lﬁ.,f;gd Vi

3. How many covalent bonds does N, molecule have? S’thxﬁg.».-»&;fiﬂ,ﬁngLNz .3
(A) 2 (B) 3 € 4 D) 5
4. Absolute zero is equal to: ‘e-bysles s i{Absolute)ssl 4 4
(A) -273°C (B) -373°C (C) 273K (D) 373K
5. Which one of the following solution contains more water? ?‘LI)LJL:‘&():J}'U"C‘_L}:LZ‘;&;/) 5
(A) 2M (B) 1M (C) 0.5M (D) 0.25M
6. 110 g of sugar is dissolved to prepare 100cm® of :‘Lﬂk@?’gl_pgmf)ﬂ00cm3£/J’u:Jg;C—Cirlf 10/ 6
solution,it is cailed:
(A) % m/m (B) % VNV (©) % vim (D) % mv
7. Which one of the following is not an electrolyte? ?‘gﬂ::,'u,/-?lu'fcgﬂdsbu 7
(A) Sugar solution  F+/3 (B) Sulphuric acid solution  f-i2i_{ysb
(C) Lime solution cf.}'b’L.z {D) Sodium Chioride solution J)’ffl/ffl}r
8. In the redox reaction between Zn and HCl,the :g..'-?il-ﬁzéau.fuf‘:l(redox)‘flé/ugméb.’l.ﬁ;ﬁ/ggul.ﬁ 8
reducing agent is:
(A) Zn (8) H* (c) cr (D) H,
8. Which one of the following metal burs with brick red flame? 998‘?»&8‘)15”:”&-“;'7;‘;‘1;@ 9
(A) Sodium (s (B) Magnesium fe (C) lron wr7 (D) Calcium A~
10. The mass of one molecule of water is: et KJ;QL._QLJ& 10
(A) 18g (B) 18 Kg (C) 18amu (D) 18 mg
11. The concept of orbit was used by: W/ Bk T 11
(A) Rutherford 2, (B) JJ Thomson Ve .2 (C) Bohr PAyY (D) Plank i .6}
12. Long form of periodic table is based upon: :9,9J&;ﬁ55(/aj v.12
(A) Mass number 4 s\ (B) Atomic number (i
(C) Atomic mass  LLt (D) Mendeleev postulate  Jrigil v
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v. Write down electronic configuration of sificon according to shells and subshells.
! viWhy does size of atom increase from top to bottom in a group?
v{ scribe the trends of shiedling effect in periodic table.
fil. How does homogenous mixture differ from heterogeneous mixture?Give an example of each.
3- Write short answers of any five part from the fp_llowiJrg. . S 2x5=10
‘/u-Drfferentlate between duplet rule and octet rile. Vi ‘What is meant by aqueous solution?
Viii. What is a single covalent bond?Give an example. Wﬂaﬁe between vapour pressure and condensation.
v. What is meant by unsaturated solution? i. State Boyle's Law.Write its mathematical expression.
vii. In which salvents, non-polar covalent substances are soluble?Give an example.
viii. How does hydrogen bonding affect physicai properties?Give an example.
4- Write short answers of any five part from the followiy |
i. Define Corrosion, J, What is meant by redox reactions?
fii. Write the names of types of electrochemical cells. “~: What is meant by electrolytes?Give an example.
v. Why are silver and gold least reactive? ‘w(wme the reaction of chiorine with water.
i

2x5=10

vii. Write two chemical properties of metals. i. Write two uses of platinum.

' Section -II ox2=18
: Answer any two questions from the following.

5. (a) Write down the experiment and observations made by Rutherford. 05
) Write any four differences between compound and mixture. 04
. 6. 4a) Explain Hydrogen bonding with an example. . 05
\/&3 Explain experimental verification of Charle's law. 04
7. (a) Define electropiating. Explain electroplating of silver with diagram. 05
04

(b) Define molarity,write its unit and derive its formula.
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2-&0‘!@, short answers of any five part from the fouowieg./’ _ 2x5=10
i. Define electron affinity. Il. What are the defects of Rutherford's atomic model?
iii. Calculate the molar mass of Nitric acid HNO,. iv. Write molecular formulae of glucose and benzene.
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D !0 each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. In redox reaction between Zn and HCI the oxidizing agent is: (ju"{ !djﬂé/uy»LHClnl(Zn).L' A4
e b LI E AT
(A) Zn (B) H* (c) cr (D) H,
2. Which is non electrolyte? e syl 2
(A) CeHe (B) NaCl (C) Na,S0, (D) NaOH
3. Which one of the following will not react with dilute HCI? 01 tdm’b&HCli‘Uf;utJ_';‘a/: 3
(A) Sodium (i (B) Phosphorous (26 (C) Caloium 2% (D) Carbon i
4. A molecule consists of two atoms is called____molecule: i« rw@;gt_x‘}:’;%ﬁmzdggl._g 4
(A) Monoatomic £t (B) Diatomic  Licdis (C) Tratomic LW} (D) Tetraatomic b2
5. Neil Bohr presented atomic model in: VR e f 5
(A) 1913 (B) 1923 (C) 1933 (D) 1943
6. First period consists of mg elements: :{u’“"}‘adfn‘{ifé sl 6
(A) 1 (B) 2 {C) 3 (D) 4

7. Which one of the following helogens has lowest electronegativity?  Sefe oy ;‘.V-C}/“?IJJGU: i tits 7
(A) Fluorine c[zﬁ (B) Chlorine q/)( (C) Bromine (i (D) lodine ¢/3y7

8. Covalent bond involves the: e bkl 8

(A) donation of electrons ¥kl <) (B) acceptance of electrons Kw:-"’gl":y':,‘-?x
(C) Sharing of electrons b’J/-‘iL'/;/t’l T P e

0. Chiorine has electrons in its valance shell: _ __M%&_@}Lg g

(A) 7 ‘ B) 8 (C) 9 (D) 10

10. The vapour pressure of liquid increases with the increase of____: :¢Luluf__%,w,. 2 1z ,g& 10
(A) polarity of molecules  ( Ag;}‘.’);gt (B) intermolecular forces -/I}J;QL ¥
(C) pressure 2/ (D) temperature £/

11. Brass is a sofid solution of: e AR 1
(A) Mg+Cu (B) Fe+Cu : (C) Zn+Cu (D) Na+Cu

12. Universal solvent is: ‘ ‘st Sy 12
(A) Water (B) Alcohol S (C) Ether A (D) Heavy water xSy
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2- Write short answers of any five part from the following. 2x5=10
i. What is meant by relative atomic mass? ii. What is mole?
iii. Define electronegativity with the help of an example. IV. Define physical properties and give an example.

v. What are the Nucleons?
vi. Write two differences between Rutherford's @
vii. Write the names of elements of First Period.
viii. Why Lanthanides and Actinides are placed separately below the periodic table?Expiain.
3. Write short answers of any five part from the following.

i. Define solution and give an example. ii. Define Polar compound.
ati v Write the names of types of Chemical bonds.

T T, Define Unsaturated soratior.
vi. What is meant by percentage volume/mass?

- v. Define evaporation.
Vi What is the effect of Nature of fiquid on vapour pressure? o

tomic theory and Neil Bohr's atomic theory.

2x5=10

viii. What type of Covalent bond is formed in Nitrogen Molecuie’ '
4- Write short answers of any five part from the following. 2x5=10
i, Define weak electrolytes with an example. ii. What are redox reactions?
iv. Why are silver and gold least reactive?

iii. Find out oxidation number of nitrogen in HNO,.
v. What is the advantage of galvanizing?
vii. Give the reaction of chlorine with cold dilute NaOH solution.

viii. Can pure gold be used for making omaments?if not why?
Section -1II 9x2=18

vi. Define metals and non-metals.

Note: Answer any two questions from the following.

5. (a) What is Bohr's atomic theory?Give its postulates.
{b) How many protons and neutrons are there in an atom having A=238 and Z=92.

6. (a) What is meant by bonding electrons?Expiain the formation of bond in CH, and C,H, molecule.
(b) Write two factors affecting evaporation. :

7. (a) Explain how iron is rusted?
{b) How is dilute molar solution prepared from concentrated solution of known molarity?Explain with an example.
232-09-A—

ERRERS




